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spectacles (% 4t) scissors (% 7 ) pants (FEA)
chopsticks (%) trousers (#+ ) compasses ([f]4R.)
socks (#—) glasses (F% 4t

i»]: Chopsticks are a pair of thin sticks which Chinese use to eat food with.

(B3 - o3 P FAY k& Gfhho)

ER2 R FRGELFL I
(1) Oneofthe + N (4 #) +V (B #c)= £ ¢ - B
One of my friends is killed. (2 59— T PP 2 447 )
(2)among + N (A #c) = &% % ... 2 /&
The song is popular among students. (i&# F &5 4 ¢ %7 o)
(3) of all + N (4f #)
Of all the writers in England, Shakespeare is the greatest.
(FR#F FRS > A LA AFL )
(4) various / varying / varied / a variety of
all kinds of / all sorts of / all typesof  + N (if#&) = & & ...
a collection of / a wide range of
a series of / miscellaneous / different
a set of / diverse / diversified
i|: Bacteria caused miscellaneous diseases. (‘i = & 3 & R p s o)
(5) assemble (F #) /gather (R #)
amass (X g) /collect (&g) + N (4f #)
group (# %)  Iclassify (& #F)
divided (% 4) /organize ()
He organized his supporters into a group. (i 4= & 3% ¢ ‘2.3 = - & 4 )

B3 A S Fi #T A7 skl FROBUARE-F A
A. editor-in-chief editors-in-chief (4 %)

commander-in-chief commanders-in-chief (%, 7 4)
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forget-me-not forget-me-nots (7 =2Y)
B. The editors-in- chief will meet in Tainan next week.

RIEP TR LG T o)

TR 4 FALFEAEE S LTI S AREHL S
The horse is a useful animal. (& &_3 * 4 <)
= A horse is a useful animal.

= Horses are useful animals.

TS FEE: AR B2 PP LA R R LTS N A

1. much
a great deal of + ¥V H L
an amount of
a great quantity of
(a) little
2. many

agreat number of + ¥ #i &7

(a) few

3. alotof
lots of + Vi VL
plenty of

£8 6.% Y its, it’s

its= v e~ v end @ (He like Paris for its exotic quality.)

it's=itis (It’s not my fault.)

8700 2%F 9 Al

— . fTEA W

Litis+ 25%3% (A 2#7F) + (of + £3) +to+Vrt
wise, smart, stupid, intelligent

foolish, kind, polite, courteous

generous, selfish, considerate,....
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It is rude (of you) to interrupt other people’s conversation.
= Interrupting other people’s conversation is rude.
= That you interrupt other people’s conversation is rude.

(i g7 875 ¢ e 2§ A geene)

2. 1tis + MEF (F~F28FH) + (for+ #3#) +to+Vrt
easy, difficult, safe, dangerous
(im)possible, (un)necessary, convenient,
essential, crucial, important, satisfactory....

[Li] B8 E P (F 0 FL i) 3@ " L " i

1. You are necessary to get up early. (3%)

J& % o Itis necessary for you to get up early. (i%3% % 42 <)

3ltis+nouse+Ving=.. &1} * i

It is no use crying over spilt milk. (& -k #gic - )

4. Itis likely that + SV = F .. T o
= It is probable (possible) that ....

It seems that +SV

A +islikely to + Vrt

Itis probable for % to+ Vrt

Itis likely that he will come. (s 3 ¥ i ¢ % <)
= It is probable that he will come. = It seems that he will come.
= He is likely to come. = It is probable for him to come.

= He can probably come.

5. Itisnotuntil...that + SV= 5 3] ... 7 ...
(*#2 that 3 £33 &)

= Not until + % &

It is not until we lose it that we realize the importance of health. (that = N.cl)
= Not until we lose it do we know the importance of health.
= Only after we lose it do we know the preciousness of health.

= We do not know the importance of health unless we lose it.

2 — 3
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= We do not know the importance of health until we lose it.
= We realize the preciousness of health only after we lose it.
(22 TR i RENEE o)

= Itis+(c%FF)+that+ + & (% w2 that
[ 21f247]

1. I visited John with Helen last night. (Ff % #* 2 Helen #3* John - )

Wi'c

N
N
Y
b

4
“JJ\
N—"

It was | that visited John with Helen last night.
It was John that | visited with Helen last night.
It was with Helen that | visited John last night.

212 >
' 7

= RIBXE

¥

1. S + think, find, consider, +it+N/Adj +to+Vrt
make, believe, regard, +that+ SV
deem, take, imagine,

suppose, count,

I think it impossible to live onthe moon. (A F 1 A A2 ZkF #.2 ¥ it o)

2. 33 +takeitfor granted that + 3 &1 = 4R 5 3@ & & 2

| take it for granted that he can succeed. (3% 4 7 15 ¢ = 7% IL 0§ SR e o)

Itis+ Vpp 2 &7

They say that= It is said that = People say that = S + is said to + Vrt = 353

Itis believed that + SV= #

It is rumored that + SV = #% i@

3.

1.

2.

3. Itis reported that + SV = 3%

4.

5. It is estimated that + SV = It is evaluated that + SV = 13333:= %
6.

Itis accepted that + SV = + 7gR3 3

It is said that jogging is good for health. (g1 855 £ & <)
= They say that jogging is good for health.

= People say that jogging is good for health.

= Jogging is said to be good for health.
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EE 8 FAEAER AV RGOIAY R TR EPEEARRZ o HET that/4F &7
those % o

A. The weather of Kaohsiung is far hotter than the weather of Taipei.
The weather of Kaohsiung is far hotter than that of Taipei.
(B ft S #3570
<¥ B2 weather (¥ #)r4 that <% - >

B. Today’s libraries differ greatly from the libraries of the past.
= Today’s libraries differ greatly from those of the past.
(5 penRE L unams 2 4ak o)
<Z B2 libraries (47 #) )y« those ¥ % - >

T80 7 TN EFed]
1. most + &34 d/7 ¥ ¥k + B FER = & ik L
most of the + %34 /% ¥ #%&

a. Most of the people need six to eight hours of sleep every night.

= Most people need six to eight hours of sleep every night.
2. many + &34 # A = %S
many of the + % 3#4f #k
Many students were absenttoday. (4 X x5 5448 - )
= Many of the students absented themselves from school today.
3. much + %Z3#H & + #PHBK = x5
much of the + %3 H #&
Much of my money was spent on books. (# &g < 5 a2 + o)
= Much money of mine was spent on books.
4. ~each+ H# 23 + ®PHE = F-B ..
{ each of the + 4F#& &3
Each girl looks very happy. (& 1 - 7% § A2 & 38 fope o)
5. either/neither+ B# 23 + &3 HF & = ﬁ—%{fi— / rﬁ-ﬁf =
= either/neither ofthe + 4k 4% + &#FH ¥

&

a. Either of the two is qualified to teach English. (% % %5 F a3~ )
b. Neither of the girls has turned in the term papers to the instructor yet.

(P3G - B EHEL L )
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6. both + %3 4F# + P = A R
{ both of the + £ 3P4f ¥k
Both girls fall in love with John. (% + 3% %€ + 7 John)
= Both of the girls fall in love with him.
= They both fall in love with him.
= Both of them fall in love with him.
7. some/any+ %I H/Fk
=some/any ofthe+ &i#FH/ifdk + #FE /i
He gave me some apples. (is %34 - &35 % )
= He gave me some of his apples. <some + 4§ #ic= % & >
8 none FE XL AEANEF e FF 7 B noneboys
no (a) I have no money.
not (adv) = | have not any money.
No one of the boys is absent. (25 — & § %4 <)
= None of the boys is/are absent. = Not one of the boys is absent.
= No one is absent.
9. all+ +#E ik
=allthe+ %% /i + #PH Gk
=allofthe+ &3 E /i
a. All of the books are sold. (*7 7 03 #8 ¢ %7 )
= All the books are sold. = All books are sold.
b. All money is spent. (#73 & $87=% 7 )
10. every+ 4@ H ¥k /every REAEW 0 R F Lo
<®%*7 8 everyofthe+ &3>

a. | told every member to come. (%9 = & = f i % oo)

£ 8 10. other / another 2 3]

ik - i ¥ - i H tpeh
AGEED ¢ one the other
o okk one the others
Y O % one another the other
w0 k% one another the others
}AGAICIONED ¢ ¢ some others the others
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£ 1l v BEHAKLFF A
A. The fact that (he was dead) surprises me. (# i+ =) Sk T 24 - gt o)

S N.cl = the fact \Y
B. The reason why he failed is that he hadn’t studied hard.
S V+N.cl (# % pxenh FJE 73 % 5 o)
The reason for his perpetual unhappiness is because he was born with an anxious nature. (;%)
(B - 22 EBPRFLE DREBRE Do)
;1 R : The reason is that # ®_ The reason is because
C. I don’t know whether (= if) he will come tomorrow or not.

(# v P X §_F ik o) (Whether...ornot €2 23R )

Most scholars are unsure whether the wheel was first used by potters in Mesopotamia or in the

central or eastern parts of Europe.
(FPEFIRTRF AT LERTEANL > B w AP EATER )
He wasn’t sure whether it was safe to take the MRT.
(2 FETFEHELTE > )
D.be+adj+ A +N=be+adj+that (SV)
MAFPTE (R +SV 2 L7+ ) 2 & (that SV)

1. I am aware of the fact that he won’t come again. (#* #rig & 2 £ % o)
fi+N that = the fact = N.cl
| am aware of the danger. (#* 4rig 3 2 ' ° )
= | am aware that there is a danger.
2. 1 am aware of what happened. (&' &vig B3 2 éh% o)

| am afraid of what may happen. (3¢ ta#-% 4 chE o)

R 12 MR w2 4o (MRS @I EE 33030 )
LA FR LA
£ 73 (4 ) + who (that) + V He is the boy who ran away.
whose + N +V He is the boy whose mother was dead.
whom (that) + S +V He is the boy whom | hate.
2. A FRS "
£ {73 (47 ) + which (that)+ V This is the watch which was stolen.
whose + N +V I like the book whose cover is blue.
which (that) + S+V I hate the house which he bought.

2 — 7
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iR 2+ 2 who, whom, which = that

3“@?\ -‘)‘F,J' =3 -ﬁv ) Ilﬁif"“’* |‘=“ °

S+V+ L7 +who +V (L FHLAH)
+ which

Itis 1 who am to blame. (3% % ] s &3¢ - )
4.fRREASTE MO T ATAL A e 50 e

A & +V

B. it +S+V

C. &3 M& +Ving/Vpp (»3#)

et S+V, ¥ - B ir(H)

* Ving, ## % Vpp, £ P eh* to+Vrt

£8-13. BGBR 239 & that

1. &3FR % &3¢ & who, whom, which
RGNz that 2 7 em g 4 "," 2 "H"o
2. REFHE (XA + ) o ou that 4o
3. THAE + AiFEEE o HA G L@ thato
all , any, few, much, every, little
the only, the sole, the unique, + A {73 +that
the + & &
4 dpFEH P o ¥ that
CAFFREGF - AR EG Lo M & Arieg o

ALTFEEHEL T

o o

1. I have nothing that | can depend on. (342 5 Fuli <)
= | have nothing on which | can depend.
B. Mik+ mEFSS+V+0 2 BHEM - LE Bew g8k -
in (iEE A 3B h% )

= This is the cafeteria in which | eat breakfast.

This is the cafeteria which | eat breakfast i

= This is the cafeteria where | eat breakfast.
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15 MARE = AW + BGNALE

13l %@+ o B4&LFER o £ 3 » o when, where, why, how
2.0 R W SHV (87 VLK)

3.8 & +SV=(B&)+SV

] He lives in Keelung, where is a large seaport and has a lot of beautiful scenery, but he commutes to

Taipei every day by car. (;¥)
Ji& #- where zz = which

(W Lbf dpat P35 Al a5 L8093 50 o)

816 =. FEBR

|

1 st Vo & Vs/Ves(% = *#)
AR+ S FF A\ 1. It snows in Alaska. (Alaska ¢ & Z )
FARRFN o (PFR/IEE) 2.l watch TV every day. (3* % = ¢ T4« )
B. used to + Vrt 3. If it rains tomorrow, | won't come.
be used to + Ving (MxEFT ’;ﬂfjfn X1 oo)
4. He is used to getting up early. (& % >t 5 4= o)
2. RAEASN be (am/are/is) + Ving
AT AHFA F EEFN 1. He is sleeping right now. (# & % pEf o)
have, understand, belong to 2. Listen! The birds are singing. (F&.! 5 2 48078 - )
be, know..., 3.lamleaving. (3% 3% 4_7 ) <& K %>

B. look, listen, watch! 4z 2 Ewi & * |4. | am understanding. (3%)

RIE(T o I am knowing the truth. (3%)
C. pdiv4F4 - | am being a student. (%)
3. MAaR A have (has) + Vpp
A. S + have + Vpp 1. I have already eaten. (#4v; i 7 °)
since + S + Vpt 2. I have lived in Taipei for 3 years.
(since z #13)) (Frhspraiz&Ed o)
B.for+ - gLpFRF 3. | have lived here since my childhood.
since + 3 PR = | have lived here since | was a child.
C. recently = so far () T‘» AAiEigl o)
= up to now = as yet 4. He has been to HK many times.(is 2 i HK 4 % =% <)
= up to the present He hasgoneto HK. (is ¢ Z3|4 B4 7 °)
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D. have been to
have gone to

E. already / yet / still

5. He has already eaten. (is & ‘Sri 427 )

He has not yet arrived. (¥ & X %] <)

4, RSN

have (has) been + Ving

NN i

1. I have been studying for two hours.
(e Ehi A B ST o)

2. | have been living in Taipei for 3 years.

(st aizg1 o)
5 i+ ;¢ Vpt
AF L3RR 1. It snowed yesterday. (Ff = = £ o)
- I e 2. He burst into crying. (# 2 #X % 7 4= % o )

Biig##@= &7 ;8 L

®
It cost me ten dollars. (iz &k & &7 L = o)

6. 4 50

was (were) + Ving

APl X g2 Y I ey

CROT

1. When you called yesterday, | was taking a bath.
(FPFR T AMF > AT ARE )

7. 4 AN

had + Vpp

A B iT— w0 - (4
xl Aﬁ : had + Vpp
e vpt

B. hardly ... when
= scarcely.. before

= no sooner .. than

1. The train had left when | arrived.
(Gipjgpr, Ld e g4 o)
2. He had hardly arrived when it began to rain.
= Hardly had he arrived when it began to rain.

(3 - BT Azd T )

8. W+ AN

had been + Ving

A Ll 2L N v e

1. I had been studying for 2 hours before my friend came.

(AP kzm s A RS B FDL T o)

9. A k3

shall (will) + Vrt

A. be going to = be about to
=beto (#-& )+ Vrt

B. shall / will + Vrt

C. there will be

1. It will snow tomorrow. (F* = § &= £ - )
2. 1 am going to leave for Paris. (3% #-3] = % 3 <)
3. There will be a fine day tomorrow.

(m = g{fﬁsiﬁ»:& ;F o)

10. & kg sd

shall (will) be + Ving

1. He will be sleeping when we arrive.

2 — 10
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11, R kzmat shall (will) + have + Vpp

1. I will have already eaten when they come tomorrow.

(2 6 P dpE > Ae ;38 0 o)

12 A ka7t shall (will) have been + Ving

A B3 A RPER S e (g & and (' o |1 | will have been studying for 2 hours when you come
B. Adv.cl, S+ k= = (i&7) + for + tomorrow.
- KR (Pxinkas e Fdo ol pF.)
2. When he arrives, | will have been working for 3 hours.
adv.cl A A +for - BLpF Ry

8 17 BRFF
Lif 2 BKFF: 2782FF4F > AHTFRA -

1. 2R AEFHE 207

If+ 313 + ~were, A3 +,- should + RA;8F
{th would
could
might

If | were a bird, | would fly to you. (Bdrsv £ & » A 8-fw 05 o)
=Were | a bird, | would fly to you. <If 2_ g &3] >

2. HiEI EFAPE

If+ 23 +hadVpp.., 213 + would have Vpp ...
should
could

might

If he had studied hard, he would have succeeded. (i3%)

= Had he studied hard, he would have succeeded. (i %)
= As he didn't study hard, he didn't succeed. (%)
= He didn't study hard, and he didn't succeed.
= He would have succeeded but he didn't.

(BAcw 4 Py 4 i ¢ ?FSE.E—“;-,TJ&@\J #®oe)

2 — 11
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3B AKREFTARF 2 BRK:

A lf+ 2% + - shouldVrt..., 13 + ~ would +Vrt (- ..)
would J should
could could
might ~ might
B.If+ 13 +wereto+Vrt.., 13 + ~ would + Vrt
should
could
~ might

If it should rain tomorrow, | would call off the picnic.

Should it rain tomorrow, | would call off the picnic.

(@/- X T & o gﬁgg&;}{‘ o)

4 THBRFF I A EERATF AR,

ML AN L EEEFEIFTFARF o
1. wish 2 BXF F : (e k8)(= O that = Would that = If only)
I wish(ed) ~ I met my father now.
<EIRAAPE o BRI S i N o >
I had met my father yesterday.
<RI ApFE > B e i iEd R AN o>

< I could meet my father tomorrow.

<@ A kApE > B i o~ could+Vrte >
should
would

N

2.asif/asthough 2. B3RK#EF (%4r)
He talks as if r he knew everything.
SERAAPE > BP Pl L N o>

might

he had seen a ghost.
<BiFIApE > BB Ed A RN o>
he might not live long.
<E A kApE > B i o could+Vrte >
should
would
\ might

N

2 — 12
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3. Itis (high/ about) time that he went to bed.

(GZE...ehpFig) SERAAPE o>

he should go to bed
<BE R KipE o>

4. would rather / had better 2_ B2 & £4):

S+ wouldratherthat +S+were/Vpt (B EEF 495 )

had better +S+had+Vpp (Z&E2EF4F)
I would rather that you did not join the army. (3% 8 fg ix W] & & o)
I had better that you had left. (% % &F iv © 3@ <)

5 TABKFF ¥4 S+(should) +Vrt ER

1.5+ [ suggest (== 3), +that+ S+ (should) + (~ Vrt[i #]

order (¢ 4 ), be + Vpp [# ]
require (& &) not+Vrt[% <]
request (& &) * ;2% :should ¥ 12 g% o

recommend (3% &), ,

insist (%4%), move (& &)
decide (7)), ask (& &)
determine (i %), advise (¥ 4.)
demand (& ), desire (& &),

propose (3 ), maintain (i %)

urge (i 3&), stipulate (& 4),

S+ ,~ make asuggestion + (that) + S + (should) + - Vrt [ #]

give orders be + Vpp [# #]
give a command not+ Vrt[% %]
make a request

issue instructions

2 — 13
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r
be + Vpp [# %]
not + Vrt [E 2]

2.1tis good, +that + S + (should) + ~Vrt[i #]
mandatory (=& 7§ ) {

obligatory (=& Jf 1)

essential (£ & ) * A& :should ¥ 118 o

< important, imperative (& & =)
urgent (?f? & 1), necessary
wrong, vital (£ & <), right
proper (i 4 £7), advisable

N apity (7 48)

be + Vpp [# #]

S + think it of importance + S + (should) +{ vrt [4#]
not + Vrt (& <)

1. I suggest that_he go to bed early.<+ @ ¢#> (#zzk e 5 ghpko )
| suggest that he be sent to the hospital <4 #: 3¢ > (322 3k i% i T Fle o)

I suggest that_he not go to school.<F #_é1> (M= ki b+ § o)

£8:18 wXoREE

1 % E@eep o Only by hard working can we succeed.
(RF¥ddisse)

2. ¥ 1% wnfi i sgfes You can pass, and so can .
(in € 2 4> A2 H o)
He can't swim, nor can I.

= He can't swim, neither can I.

(fa']\ g;%f?jﬁ( y N4 7 g o)

3. BRF# 1. If I were a bird, | would fly.
= Were | a bird, | would fly.
(e A E 5 ALk o )=<BHRAF >
2. If I had had money, | would have bought it.
= Had | had money, | would have bought it.
(r&AF 8> ALF v )=<HFIApF>

2 — 14
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3. If it should rain, | wouldn't go.
= Should it rain, | wouldn't go.
(4r% ™ & > ;ﬂifn 3 o )=<BHALAppF>

4, FHF & 1. Although he is poor, he is happy.
= Poor as he is, he is happy.
(s B2 G > Ariiflt o)

2. Although she is a girl, she is strong.
= Girl as she is, she is strong.

(4 BE AR H B4 3% 0 frinsii o)

5. AFHFEN R He is so tired that he can't move.
= So tired is he that he can't move.
(s R @438 o)

6. i@ FE R On the wall are three pictures.
= There are three pictures on the wall.
(htF =tk )
7.# 33 gl o g Here comes the bus. (& & & 7 - )
8. iz 5 A He runs faster than a hare.

= He runs faster than does a hare.

(B Ea v 4+ Bp-o)

£ 19 xR

l.as+adj/adv+as 2 %%
A.S+beligs +as+adj+as+S
B.S+beliz % +as+adj+a/an+N+as+S
C.S+V(- %) +as+adv+as+S
2.a5+ R +as= & .. jpk
3.S+V+ 2# +as+adj/adv+as+S+V
=S+ V + & # +the N(age/size/weight/amount/number) of + ...
4.as +adj/adv + as possible = & ¥ &t &0
= as possible as S can = as possible as can be
5. % =2 notso (as) + & . +as=notsomuch ... as

6.as+do+SV z F%

2 — 15
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1.Heisastallasl. (i ot - 4§ )

Heisastall asme. (v 3 * %)

be adj

2. Heisastalleras|. (3%) <as + J % +as>

He is the same tall as | (3&) <the same + N>

He is the same heightas I. (s fe3* - 3 )
3. Hemingway’s The Old Man and the Sea is as_famous as his

For Whom the Bell Tolls. (7% p? = e A 223 Jgk b s - 5 & o)
4, He walks as fast as I. (s g32% 4 15 - &£ o)

<fast E g3 » # ¥ 2 fastly - >
He runs as quickly as a rabbit. (¥ # 1% o + - - )
\ adv
5. If you can type as gquickly as she can, you must be very good indeed.
(bt 047 3 B — o (- R f3ff o)

£ 20 %

1w +than LR v %2 7L E4F )
A. more ... than (He is more diligent than his brother.)
B.-er...than (He is taller than I.)
C. p¥d BaFfz tf- =% more... than
2.the + 1 s +ofthetwo= & F & ...
A. A FE ot s (He s the taller of the two.)
B. = 1 * &3 % (Heisthe tallest of all.)
3.less+ R +than z i & ¥ 38
A.less+ % ¥ #ic #3 +than  (He has less money than I.)
B. less + adj/adv + than (He is less diligent than 1.)
4, 3k P A 7
A g 3% 2 H e that 3
B,y pFEw > 2 2 4F#c* those
a. His salary as a bus driver is more than that of a teacher.
= His salary as a bus driver is more than a teacher’s.

b. The houses of the rich are larger than those of the poor.

2 — 16
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5. AWA T A b g ¢ oo He is taller than anyone. (%)
A. than any other + ¥ #c & 3@ He is taller than any other boy.
B. than any(thing) else He is taller than anyone else.
C. than all the other + N 4F #c He is taller than all the other boys.

6. 5 P than/as 15> 7 % o

He runs faster than | do. = He runs faster than do I.

TR 21 A3 a2

1 2,83k % %% & 4 theo This is the fastest ship in the world.
Bl B 5T ¥ A &4 theo This ship travels fastest.
2. 475 R+ BB The world’s highest mountain

3. & ® e
the + & % & + of all + (N)
among + %id4f#c
in+ 3 =

that + S + have ever + Vpp (L &% = 7¢)

LB 2 B LG

a5 il Semtencd:
-— 5 o+ { AHERNES ) + ¥V + 7?77
(ZRFPB) 7 (BI/BAV/I®E)
L e XEEE: 818/ &8/ 726/ 2858 / E8F8 /| EEKE /the+ §
2. RAIENGIS: & +{ (BE{0EE) — &8/ SEKE /2878

(EBIRIEMNEE) — TS /Ving/Vpp o+ VR [ R / v+ &
3. BADR: S+V+X/ S+V+SC/ S+V+0/ S+V+0+0.C./ S+V+0+0

# [Compound Sentence: S+V+7.. [l +S+Vv+? ({ H®Fg )

I. S+V+. . .and(but/or/forfse)+S+V... 2L.5+V+ ... BL5+V... LS5+V+..;5+V...

$.[Complex Sentencd : S+V+7... W +S+V+? ( 2ARY)

1LBIBRE : (M A+S+V. .. ),S+ [ M +5+V... J+V+[{ B +S+V L) (BEE /¥ MR

L BEEATD: /N[ W +(5)+V+(0) ) AINBEELTE, BETRETS
VS+V+0+ - +0+ £ +0), B +(S)+V+(0)
3. BBFE: (@) S D FS+V . )+ GRED
by O D SHVH()+ | EASHV L)
ey S.C. : S+bevV+ | H+S5+V..}
(d) BEE : N+ (that+S+V..)— REHPE
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M o+ X ( MR EREEEEEEE )
X + 5 ( A REATAMERE )
(2)S+V+T+ | (M) +(S) + V [(SEL0IAEL0 B80T

(a) BWPOP, ERITOVEILL that TEHE [ think am right. }
(b) BEBTFIP, RRDOMATEEE ( whom / which / that) [ like the book { ou bought. }

E4. [Compound Complex Sentence : S+ V ... + S+V.. +5+V..
1. (You)say you love |ﬂe,@ [ will forgive you.
. 1 awm sorry @ there’s nothing weean do to help you.

. ABE:
(a) MED : ltis BEW (Vpp/ BB to+V R (Ving/that+ 5+ V+...) It's nice to meet you,
(b) RIEE : Itis MU that + (S) + V +(0) + (Adv) It's John who (that) Killed his wife last night.
(c) S5 : Here (There) + V+S/ BRI + VE) +S5.../Only+ BIEE + VE) +5...

" (d) The BE#RRR +S+V ... the LedREH +S+V ... : Themore you have, the more you want.

(e) Justas+S+V ... ,s0+ VE] +V: Just as you 50w, 50 shall you reap.

Ems+v+?...{x + X + Ving(Vpplo+ VR I B/ +B 1 B/ B ) (TESH +/R)
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